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This paper consists of fifty multiple-cheice type of

questions.

At the commencement of examination, the question
booklet will be given to you. Tn the first 5 minutes,
you are requested to open the beooklet and

- compulsorily examine it as below :

(i) Tally the mumber of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicated ornot in serial order or any
other discrepancy should be got replaced
immediately by a correct booklet from the
invigitator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

(i) Afer this verification is over, the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A),

(B), (C) and (D). You have to darken the oval as

indicated below on the correct response against each item.

Example @ . @

where (C) is the correct response.

Your response to the items are to be indicated in the
Answer Sheet given inside the Paper 1 Booklet only.
1fyou mark at any place other than in the ovals in the
Answer Sheet, it wilk not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet,
If you writc your Name. Roll Number, Phone
Number or put any mark en any part of the Answer
Sheet, except for the space allotted for the relevant
eniries, which may disclose your identity, or use
abusive language or employ any other unfair means.
vou will render yourself liable to disqualification,
You have to return the test question booklet and OMR
Answer sheet to the invigilators at the end of the
examination compulsorily and must not carry it with
you outside the Examination Hall.

Students can take home carbon copy of their OMR

Use anly Blue/Black Ball point pen.
Use of any calculator or log table ete., is prohibited.
Thereis no negative marks for incerrect answers.
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PAPER CODE : 21

PAPER-II

COMMERCE

Note : This paper contains Fifty (

Sz - v e TR ( 50 ) 9w ¥

(2) marks. Attempt all the questions.

50) ohjcctive type questions, each question carrying two

e e 3 2 2 ) i el B IR

1.

First five vear plan in Indiabegan on—
) April1,1950

(B) April1,1951

(C) November i, 1950

©) April 1,1952

Occupational structure refers to the—
(A) Numbcrofpeople living inthe
© country

(B) Sizeof working force inacountry

(C) Distribution of working force
among the different occupations

(D)  Occupations avalibableina
country

What is the correct sequence of the fol-
lowing events in the Indian context—

1. New economic policy

2. Insurance regulatory and development
Authority

3. Introduction of service tax

4. Special Economic Zone Act

(A) 1-3-4-2

@) 1-3-2-4

(C) 1-2-3-4

D)y 1-2-4-3
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4. Which ofthe following are consumers
as pet the Consumer Protection Act.
1. Saving bank account holder ofabank

2. Insurance policy holder

3. A person who hires services of a -

travelling company

4. Aperson who purchases soap for his

personal consumption
(A) Only4
(B) 3and4
¢y 2,3,and4
(D) Alloftheabove

5. MRTPisrelatedto—

{A) Monopoly and trade restrictions

{B) Inflation control .
(C) Forcign exchange control
(D) Rate ofinterest control

6. Which of the following is correct :
(A) Assets=Liabilities + Capital
(B) Assets+Liabilities = Capital
(C) Assets+ Capital = Liabilities
(D) Assets=Capital — Liabilities

7. Acashflowstatementis:

(A) asummary of cash transactions

during the year.

(B) astatementdepicting changesin
cash position from one period to

another.

(C)  astatement showing the working

capital position of a firm

(D) astatement showing the financial

position ofa firm
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10.

When fixed cost is 210,000 and P/V

Ratio is 50%, the break even point will

be:

(A) . T 10,000
(B) - T 20,000
(C) T 40,000
(D) T 30,000

The directors of'a company forfieted 100

shares issued to A on occount of non

payment of the final call of Rs.2. The face

value of the share was ¥ 10 each. The
journal entry will be— )

{A) ShareforfeitureA/c Dr. X 200

To Share Capital A/c T 200

(B) Shareforfeiture Alc - Dr. ¥ 800

To Share Capital A/c T 800

(C) Share Capital A/c  Dr. T 800

To Share forfeiture Afc T 800

(D) Share Capital A/c

" To Share final Call A/c Z 200

To Share Forfeiture A/c T 800

Realisation A/cis prepared—

{A) Onthedissolutionofa partnership

firm

(B) Onthe admissionofanew
partner

(C) Ontheretirement of a partner.

(D) Onthechangeis profit sharing
ratio among the partners
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5 feem =0, 10,000 T, ¥ SR PV
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(A) Z10,000

(B) 20,000

(C) ¥ 40,000
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(A). Share forfeiture A/c Dr I 200
To Share Capital Afc T 200
(B} Share forfeiture Alc  Dr. T 800
To Share Capital A/c ¥ 800
(C) Share CapitalA/c Dr. ¥ 800
' To Share forfeiture A‘c T 800
(D) Share CapitalA/c  Dr¥ 1000
To Share final Calt A/c ¥ 200
To Share Forfeiture Afc T 800
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11.

12.

13.

Consider the following statements ;

(1) Cross elasticities are important tools
formanagerial decisions especially for the
product with close substitutes.

(ii) Demand for a product is more price
elastic over a period than at a point of
time.

(iit) If the demand of the product is price
elastic, increase in price will not be as
gainfill as maintaining the price,

(iv) The more and better the availabie
substitute for a commodity, the greater
its price elasticity of demand is likely.
Which of these statements are correct ?
(A) (i), (i) and (iii)

By (). (). (i) and (iv)

(C) (Dand (i)

(D) None ofthe above.

For perfect substituability between com-
modities X and Y

(A) MRS xy will be decreasing
(B) MRS xy will be increasing
(C) MRS xy will be constant
(D) None ofthe above.

Opportunity cost is a term which
describes :

(A) Costrelated to a optimum level of
production -

(B) Total variable cost
(C) Short Run Average cost

(D) Costof one product in terms of
production of other’s forgone
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14.

i5.

“16.

17.

Lemer’s index of monopoly power ¢an
be measured by the formula

P-MC
w -5
P-MC
® Twe
MR — MC
© Tac
MR —AR
© —w

One of the essential condition of perfect

compelition is:

(A) Productdifferentiation

(B) Many sellers and few buyers

(C) Only one price for identical goods
at any one time

(D) Multiplicity of prices for indentical
products at any one time

Ifthe value of coefficient of correlation

15 1SS than ..eeevee s sireinseesees , the value

of coefficient of correlation is not at all

significant :

(A) Probablc error

®B) One

(C) Standard error
(D) Standard deviation

Tfthe value of coefficient of regressions
are -0.45 and -0.8, the value of coeffi-
cient of correlation will be :

A 0.6
®) -036
€ -06
o) 0.36

P.C.—21-COMMERCE-TI/950

14.

15.

16.

17.

T Wi W W ¥ W H
T A 8
@) ﬁma—;t:ﬂama
. Fre — A e
©) A ArTd
© S e — S e
A e

HaTe I~ A A8
) sirad s

ol e TR R e W €

(A) TR Tasdsr

®) or R 3R g

«3‘%mqmamﬂnammaﬂﬁ
F FAE T B HE

) Fet T OIE T AT R
*i fafe w

iy WEETy YUE F HeT & FH
$ ... EETRY TN & i UhaH
off wgeg TE

(A) T fvw

B) T

(C) wbm faum

@) v fa=er

A EHUFE T e -0.45 T

~0.8 ¥ T WY T W T R :

(A) 06

B) -036

(C) -06

D) 036 .
BTO.




18.

19.

20.

21.

22.

The standard normal curve has .........
meanand ........... standard deviation :

(A) it unit
(B) zero,unit

" (C) zero, zero

(D) umit. zero

Which of the following is not the prop-
erty of good estimator ? -

{A) Unbiasedness '

(B) Dependency

(C) Consistency

(D) Sufficiency

While exporting Ledgers from Tally
toWeb page, we use :

(A) XML format
(B) ASCIIformat
{C) SDF format
(D) HTML format

The main advantage of Line and staff
organization is : :

(A) Simplicity

(B) Specialisation

(©)  Availablity of Expert advice

(D) Speedy decision making

Which one of the following is amotivat-
ing factor as per Herzberg Theory ?
(A) Salaryand allowances

(B) Working conditions

(C) Absence from duty

(D)  Jobdesign
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23

24.

25.

26.

*“Human Relation Approach” to manage-
ment was originated by :

(A) HenryFayol

(@) FEhonMayo

(C) Winsow Taylor
(D) Peter F. Drucker

Which one of the follewing management
functions are closely related ?

(A) Planningand organising
(B) Staffing and control
© Planning and conirol
(D) Planning and staffing

Gantt chart, as instrument of contrl tech-
nique, represents work progress using—

- (A) BarChart
- (B) Pictures in sequence

(C) Pointand figures
(D) Frequencycurve

Which of the following philospphy holds
that consumers will favor the products
that offer most in Quality, Performance
& Innovative features :

(A) Marketing concept

~ (B) Production concept

(C) Product concept
(D)  Selling concept
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27.  Producers of convenience products &
common raw materials typically seek a
strategy in which they stock their
products in a3 many outlets as possible :

(A)  Exclusive distribution
(B) Intensive distribution
(C) Selective distribution
(D) None of the above

28, Arrange the following stages of new
product development in the correct
order :

a. Business Analysis

b. Coneept Development and Testing
c. Test Marketing

d. Product Development

(A) a-b-cd

B) a-c-d-b

(C) ba-d-c

O) d-a-cb

29, Maich the following buying decision
behaviour on the basis of degree of
consumer involvement and degree of
differences among brands- -

1. Significant & Complex buying
difference bitween  behaviour
brands and low
mvolvement

2. Significant b. Variety seeking
difference bitween  behaviour

brands and high
involvernent

3. Fewdifferences  ¢. Dissonance
bitween brands reducing behaviour
and low involverment

4. Few differences  d. Habitual buying
bitween brandsand  behaviour
highinvolvement
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30.

3L

(A) 1-b,2-a 3-d, 4
®) 1-, 2-b,3-d. 42
(C) 1-d, 2-c, 3-a, 4-b
D) 1-a,2-b, 3-c, 4-d

Which of the following is not a part of
marketing communication niix 7

(A) Personal sclling

(B) PressRelease

(C) Direct Marketing

(D) Product Assortment

Which one of the {otlowing techniques 31,

of Capital Budgeting docs not consider
time value of money 7

© (A) Accounting Rateof Retum (ARR)

(B) NetPresent Value (NPV)

(O Internal Ratc of Return (IRR)

(D) Profitability Index (PT}

Cost of Debts is cheapest because :

(A) RateotInterestis fixed.

(B) Debt Holders do not have any
voting right.

(C) Interest on debts is tax
deductible

(1) Deblis secured.

p.C.—21-COMMERCE-11/950 9
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(A) 1-b, 2-a,3-d, 4-c
®) 1-,2-b,3-d,4-a
(©) 1-d, 2-¢, 3-a, 4-b
(D) 1-a, 2-b, 3-c, 4-d
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33.

.34

A)

The objective of Workign Capital
Managementisto :

A) ensure Maximum Iivestment in
Current Asséts o
enstre Optimurm Investment in
Current Assets. ’

®

ensure Minimum Investment in
Current Assets,

ensure no Tnvestmentin Current
Assets. '

<)

o)
Salesofa firm is £ 20,000, Contribition
¥ 10,000 and Earnings before Interest

and Taxes (EBIT) are T 5,000. Its
Operating Leverage shall be ;.

35,

36.

S ®

D)

® 2
© .25
D) .50

Which of the following model suggest
inrrclevﬁnce of dividend to the firm’s
valuation ?

(A} Waltermodel

(B) Gordenmodel

(C) Modigliani and Miller model

D) All of theabove - -

The three major components of
VROOM?s Expectancy Theory are :
Expectancy, Variability,
Instrumentality

Expectancy, Valence, Indicators
Expectancy, Variability, Indicators
Expectancy, Valence,
“Instrumentality

®
©
D)
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37.

38.

39.

40.

41.

The degree to which human resource:
practices are consistent with the firm’s

overall business strategy is known as

(A) Veritical Fit Perspective

(B) Horizontal Fit Perspective

{C) BestFit Perspective

(D) Resource Based Perspective

Role plays are most effective whenthey

include :

(A) A feed back session after every
role play

(B) Onlyexpericneed managers

(C) Femaleand Minorities.

(D) OnlyInexperienced Trainees

A challenge currently faced by the Hu-
man Resource Development field s :

(A) Increasing Work force Diversity

(B) CompetinginaGloabal Economy
'(C) Eliminating the skill gap

(D) Allofthe above

While designing equitélb le compensation
plans, following elements of maintaining
equity are required to be considered :

(A) Internal equity

~(B) Externalequity

(C) Individual equity-
(D) Allofthe above

Narasimham Committee (1998) is

. known for:

(A) Banking sector reforms
B) Industiral sector reforms
(C) Fiscal policy reforms
(D) None ofthe above
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42. Reserve Bank of Indiais:
(A) Bankersbank and lender of last
resort
(B) Custodian of foreign exchange
reserves
(C) Controller of credit
(D) Alloftheabove

43, Which of the following committee

recommended that Development
Financial Institutes (DFIs) should be
allowed to convert themselves inte
banks ?
(A) Malhotra commitiee
(B) Khanworking group
(C) Goiphoria commitiee
(D) Parekh committee

44. 'Which pair is nol correct 7

(A) 1DBI- Industrial finance
(B) SIDBI- Finance for small
: scale industrial sector
(C) NABARD- Finance for
agriculture and rural
development

(D) EXIM Bank- Finance forhouses

45.  Which of the following is nota tool of
monctary policy ?
{A)- Open market operations
(B) Cast reserve ratio
{C) Goeds and services lax rate
(D) Bankrate
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42.

43,

45.

e fiod Sw F e

A) i = T s st R
B) fouft fafma e = w@amen
() =ra = FreiEw

D) SR =

frewfefad § @ feg afnfa 3 97 s
F oft fr fosita fawm gemet
(S uw.oE.) = wE F S 1 aiEhda
Ly AR < ST ey ?

(A) wHeEmnafafa

(B) T AT Y

(C) Théuifear wiifa

(D) it |

FRWMgm g T E 7

(A) s Eisiad - sl e

@) fo=e- #1q st
&7 2g o

(C) -TE- iy & YT
Tomra 3 fow

O) wFmEE R

Freferias & & @ e A @7 T

R '

(A) e e w Rl

B) e TR e

(C) &% & Jar i T T

D) FF= -



|

© 46. MatchlistIand list Il and select the cor~ 46, FAH [ 3§ 11 F1 e ey qen

rect answer using the code givenbelow g fow 1w el = e O TR W
the [ist. e i
List [ ListI1 1 TR
(A) -}‘k;flow t(;;ibsolute 1. ;rf)i;}:a:e] N e T pyp—
v arn >
(B) Theory of Comparative 2. Hecksher- (B) gerfrers Tt ﬁm;:;-‘ﬁ?—
advantage ohlin
.(C) Factor Endowment 3. Adam (€) wmer e faga 3. weH fey
Theary Smith (D) Ui wieeqst oy 4, Tfae Reret
(D) National competitive 4. David fergia
advantage theory Recardo He: A B C D
Code: A B C D (A) 3 4 2 1
(A) 3 4 2 1 ®) 3 2 4 1
® 3 5 4 © 2 4 13
©2 4 1 3 ™12 3 4
@) 1 2 3 4

47. fasa d% F7 S FEn ‘v wmw

47.  Which insititution is known as soft loan

window of world Bank ? fergml’ et =t & 2
(A) 1FC A) iR,
®) DA B) sEEx.
(C) IMF (Cy = TmF.

" @) ADB ™ what

48, T faRyi =mm i (2009-14) =0

48.  The longterm policy objective of new

foreign trade policy (2009-14) is to el Hiirm sie dfvas smw §
double india’s share in gloabal trade by: RETR 79 S S R R Rt e
(A) 2020 Frafy el M R .
B) 2015 (A) 2020
(C) 2018 (B) 2015
D) 2014 ©) 2018

o) 2014
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49.

50.

IT export are included in which of the 49.

following categories ?

1. Merchandise exports
2, Invisible items

3. Current account

4. Capital account
Select the correct answer using the codes
given below :

() 1,2and3 -

B) 2and3

(C} 3and4

D) 1.2and4

International Business includes :

50.

1. International transaction of econpmic
Tesources

2. International production of goods
3. International Povision of Services

Select the correct answer vsing the codes
givenbelow:

(A) Onlyl
@) land?2
€ L2 and 3
(D) Zand3

aago
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g FwArE (o 2 % faafa
frefafign & © oo 4ot # wfiafem
gt 2

1. T =

2, 9T W)

3, e G

4. T =

9 fXu T 73 =) werEar § w6 I
HWW:

A) 1,293

@) 233

©) 39ra

O} 1,294

srardeia s o whwfer —

1. i ganEl Ft TS wik-
i .

2. TRE 1 SRR W W IERT

3. Tt w1 s W W W

4 fog T FE B A v I H w

wife ;

(A) ¥aa

® 13k

(C) 1,239R3

) 283



